ey
25 points | 25 points ] 25 points | 20 points Il 100 points
Total

1 2 3 4
MATH 153 CALCULUS I 05.11.2015

gizmir University of Economics Faculty of Arts and Sciences, Department of Mathematics]

Midterm Exam 1

Student Name and Surname: ................. .. .. .. .. .. ..



(1) Evaluate the indicated limit. If it does not exist, is the limit oo or —o0, or neither?
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(2) Find the derivatives of the given functions.
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(3) Let f(z) = ;i

(a) Find an equation of the tangent line to the graph of the given function at (2, 3).
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(b) Find the points on the given function at which the tangent lines are perpendicular to
the line 92 — 2y = 381.
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(4) (a) Given

f(x)={

12—-3z ;x <2
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2 -2 z>2

Find the values of the constants a and b such that f is continuous at z = 2.
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(b) Let f(z) = 1f-x2‘
f(1/2) =1, find (f7')'(1/2).

Show that f is one-to-one so that it has an inverse. Noting that
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